
TECHNICAL DOCUMENTATION

BOILER 
CONNECTION SET

SUPERIOR IN PRICE & QUALITY

BOILER CONNECTION SET 
Technische Dokumentation

LIKE BONFIX OP FACEBOOK 
 Altijd op de hoogte van de nieuwste producten
 Leuke acties en aanbiedingen
 Direct in contact met de BONFIX medewerkers
 Of bezoek de website: 

Offi ce BONFIX B.V.,

Zwolle 

VERY GOOD

klimaatneutraal
natureOffice.com | DE-241-267560

gedrukt

SUPERIEUR IN PRIJS & KWALITEITSUPERIOR IN PRICE & QUALITY

LIKE BONFIX ON FACEBOOK
 Always up to date on new products 
 Fun actions and specials
 Direct contact with BONFIX staff OR 
 Visit our website: www.bonfix.eu

Offi ce BONFIX B.V.,

Zwolle 

VERY GOOD

U
K 

01
0



BOILER CONNECTION SET
Technische Dokumentation

 

Up to date as per March 2016 (changes, corrections and typing errors reserved).

PRODUCT CATALOGUE
Boiler Connection Set 

Inlet combination
2 x compression end 

T-piece
3 x compression end 

T-piece
40 mm x 25 mm x 40 mm 

Copper pipe
5cms 

Plastic hose
flexible 600mm

Stainless steel flexible connection hose 
50 centimetres

10 mm compression x Ø15 mm push-in

Stainless steel connection hose 
50 centimetres

3/8” screw cap  x Ø15 mm push-in

Stainless steel flexible connection hose 
50 centimetres

3/8” screw cap x 10mm compression end

Tie wrap

1a

1b

3

2

4

5

6

7

1c

BOILER CONNECTION SET
Technische Dokumentation

Up to date as per March 2016 (changes, corrections and typing errors reserved).

INSTALLATION INSTRUCTIONS

 ● Determine the place where the boiler is to be installed.
 ● Flush out the cold water supply line thoroughly. 
 ● Connect the KIWA-approved flexible stainless steel connection hose with 3/8” screw cap x 10mm compression fitting 
(1A) to respectively, the hot water connection point on the boiler, and the hot water tap connection point.

 ● Install the KIWA-approved flexible stainless steel connection hose with 3/8” screw cap x Ø15mm push-in (1C) to   
respectively, the cold water connection point on the boiler and the BONFIX KIWA / BELGAQUA-approved connection 
set (15mm compression fitting) (3).

 ● Install the connection set (3) with 15mm compression fitting to Ø15 mm copper pipe (2) and connect pipe to BONFIX 
brass compression T-piece Ø15mm (4)

 ● Connect the KIWA-approved flexible stainless steel connection hose with tØ15 mm push-in x 10mm compression 
fitting (1B) to the brass T-piece Ø15 mm (4) and cold water tap connection

 ● Turn the funnel on the connection set (3) down vertically and connect flexible plastic hose (5) to plastic reducer piece 
on funnel of inlet combination (3).

 ● Connect plastic hose (5) to fitting of plastic T-piece (7) and install T-piece on drain pipe.
 ● Use tie-wrap (6) to install a bend in the flexible hose (5). This will prevent odour nuisance.
 ● Fill the boiler with water by opening the hot water tap and mains water supply valve
 ● Shut the hot water tap when water starts flowing from the tap and check that the compression fittings are water-tight 

NOTE
Water expands at a rate of 2% by volume when heated. The extra water is able to escape via the opening of the relief 
valve.

Use appropriate installation tools and prevent damage

WARRANTY AND LIABILITY
Warranty and liability as per our general terms and conditions.
Damage caused by stress corrosion is not covered under product liability.

 ● Instructions for installation are based on the following being available:
 ●  Ø15 mm cold water supply up to the compression fitting of the BONFIX KIWA / BELGAQUA-approved  
connection set

 ● Sink drain (Ø40 mm PVC) in the close vicinity of the boiler
 ● Boiler connection point with 3/8” male thread

IMPORTANT: boiler must be installed in compliance with local building regulations

3 4 7 2 5

1b

1c

1a

6



BOILER CONNECTION SET
Technische Dokumentation

 

Up to date as per March 2016 (changes, corrections and typing errors reserved).

PRODUCT CATALOGUE
Boiler Connection Set 

Inlet combination
2 x compression end 

T-piece
3 x compression end 

T-piece
40 mm x 25 mm x 40 mm 

Copper pipe
5cms 

Plastic hose
flexible 600mm

Stainless steel flexible connection hose 
50 centimetres

10 mm compression x Ø15 mm push-in

Stainless steel connection hose 
50 centimetres

3/8” screw cap  x Ø15 mm push-in

Stainless steel flexible connection hose 
50 centimetres

3/8” screw cap x 10mm compression end

Tie wrap

1a

1b

3

2

4

5

6

7

1c

BOILER CONNECTION SET
Technische Dokumentation

Up to date as per March 2016 (changes, corrections and typing errors reserved).

INSTALLATION INSTRUCTIONS

 ● Determine the place where the boiler is to be installed.
 ● Flush out the cold water supply line thoroughly. 
 ● Connect the KIWA-approved flexible stainless steel connection hose with 3/8” screw cap x 10mm compression fitting 
(1A) to respectively, the hot water connection point on the boiler, and the hot water tap connection point.

 ● Install the KIWA-approved flexible stainless steel connection hose with 3/8” screw cap x Ø15mm push-in (1C) to   
respectively, the cold water connection point on the boiler and the BONFIX KIWA / BELGAQUA-approved connection 
set (15mm compression fitting) (3).

 ● Install the connection set (3) with 15mm compression fitting to Ø15 mm copper pipe (2) and connect pipe to BONFIX 
brass compression T-piece Ø15mm (4)

 ● Connect the KIWA-approved flexible stainless steel connection hose with tØ15 mm push-in x 10mm compression 
fitting (1B) to the brass T-piece Ø15 mm (4) and cold water tap connection

 ● Turn the funnel on the connection set (3) down vertically and connect flexible plastic hose (5) to plastic reducer piece 
on funnel of inlet combination (3).

 ● Connect plastic hose (5) to fitting of plastic T-piece (7) and install T-piece on drain pipe.
 ● Use tie-wrap (6) to install a bend in the flexible hose (5). This will prevent odour nuisance.
 ● Fill the boiler with water by opening the hot water tap and mains water supply valve
 ● Shut the hot water tap when water starts flowing from the tap and check that the compression fittings are water-tight 

NOTE
Water expands at a rate of 2% by volume when heated. The extra water is able to escape via the opening of the relief 
valve.

Use appropriate installation tools and prevent damage

WARRANTY AND LIABILITY
Warranty and liability as per our general terms and conditions.
Damage caused by stress corrosion is not covered under product liability.

 ● Instructions for installation are based on the following being available:
 ●  Ø15 mm cold water supply up to the compression fitting of the BONFIX KIWA / BELGAQUA-approved  
connection set

 ● Sink drain (Ø40 mm PVC) in the close vicinity of the boiler
 ● Boiler connection point with 3/8” male thread

IMPORTANT: boiler must be installed in compliance with local building regulations

3 4 7 2 5

1b

1c

1a

6



TECHNICAL DOCUMENTATION

BOILER 
CONNECTION SET

SUPERIOR IN PRICE & QUALITY

BOILER CONNECTION SET 
Technische Dokumentation

LIKE BONFIX OP FACEBOOK 
 Altijd op de hoogte van de nieuwste producten
 Leuke acties en aanbiedingen
 Direct in contact met de BONFIX medewerkers
 Of bezoek de website: 

Offi ce BONFIX B.V.,

Zwolle 

VERY GOOD

klimaatneutraal
natureOffice.com | DE-241-267560

gedrukt

SUPERIEUR IN PRIJS & KWALITEITSUPERIOR IN PRICE & QUALITY

LIKE BONFIX ON FACEBOOK
 Always up to date on new products 
 Fun actions and specials
 Direct contact with BONFIX staff OR 
 Visit our website: www.bonfix.eu

Offi ce BONFIX B.V.,

Zwolle 

VERY GOOD

U
K 

01
0


